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QUESTION 1

A journalist would like to analyze four short sentences captured and transcribed form verbal sound-bites from a political
candidate. Is the IBM Watson Personality Insights service an appropriate technology to accomplish this goal? 

A. Yes, the Personality Insights services will provide details about the personality of this political candidate 

B. Yes, because the journalist will combine the Personality Insight with Speech to Test service to accomplish this goal 

C. No, there is not enough text for the Personality Insights service to analyze and provide reliable results 

D. No, the Personality Insights service provides only information about the emotional stat of the candidate 

Correct Answer: C 

Reference: https://developer.ibm.com/watson/blog/2016/01/12/personality-meets-behavior-the-new-ibmwatson-
personality-insights-demo/ 

 

QUESTION 2

What are two available IBM Watson REST APIs that allow you to understand tone, personality or emotional state from
text? 

A. Tone Analyzer 

B. Speech to Text 

C. Language Translator 

D. Personality Insights 

E. Watson Assistant 

Correct Answer: AD 

Reference https://www.ibm.com/watson/services/tone-analyzer/ 

 

QUESTION 3

Which statement is the purpose of the IBM Watson SDKs? 

A. It allows UI designers to identify AI relations in their prototypes. 

B. It allows developers to discover AI services. 

C. It allows developers to add AI services to their applications. 

D. It allows end users to provide AI use cases and requirements. 

Correct Answer: C 
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QUESTION 4

What is the definition of false positive in the context of measuring accuracy of a machine learning system? 

A. The system returns a low confidence score for a correct answer. 

B. The system returns a high confidence score for an incorrect answer. 

C. The system returns only low confidence scores for all answers. 

D. The system returns only high confidence for all answers, both correct and incorrect. 

Correct Answer: A 

 

QUESTION 5

In the sentence below, which word or phrase is an example of a generic mention class? 

"Severs storms in this area usually occurs in late winter, but Tropical Storm Helga was an abnormally" 

A. Tropical Storm Helga 

B. late winter 

C. Helga 

D. storms 

Correct Answer: D 

Reference: https://console.bluemix.net/docs/services/watson-knowledge-studio/ typesystem.html#typesystem 
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